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600V CVT 600V EM-CET
CVvVv EM-CEE
Cvv
EM-CEE (GAVAY)
1
600VCVT
(A)
(mm?) Q/km) | (MQ km) 90 Q /km (Q 7km)
(V) 50Hz 60Hz 50Hz 60Hz (40 )
8| 7/1.2 2.36 2000 1500 3.01 3.01 0.114 | 0.137 62
14 1.34 1500 2000 1.71 1.71 0.107 0.128 86
22 0.849 1500 2000 1.08 1.08 0.102 | 0.122 110
38 0.491 1500 2500 0.626 0.626 | 0.0939| 0.113 155
60 0.311 1500 2500 0.397 0.397 | 0.0905| 0.109 210
100 0.187 1500 2500 0.24 0.24 0.0883| 0.106 290
150 0.124 1000 3000 0.159 0.16 0.0839] 0.101 380
200 0.0933] 1500 3000 0.121 0.121 | 0.0845| 0.101 465
250 0.0754] 1000 3000 0.0981 0.0991] 0.0826] 0.0991 535
325 0.0579 900 3000 0.0765 0.0776] 0.0807] 0.0969 635




600V EM-CET

(A)
(mm?) Q/km) | (MQ km) 90 Q/km (Q /km)
(V) 50Hz 60Hz | 50Hz | 60Hz (40 )
8] 7712 2.36 2000 1500] 301 301 [ 0114 [ 0137 62
14 1.34 1500 2000 171 171 | 0107 | 0.128 87
22 0.849 | 1500 2000  1.08 108 | 0102 | 0.122 115
38 0491 | 1500 2500 0626 | 0626 | 00939 0.113 160
60 0311 | 1500 2500] 0397 | 0.397 | 0.0905 0.109 210
100 0187 | 1500 2500  0.24 024 | 0.0883| 0.106 290
150 0124 | 1000 30000 0159 | 016 | 00839 0.101 380
200 0.0933| 1500 3000 0121 | 0121 | 00845 0.101 470
250 0.0754| 1000 3000  0.0981] 0.0991| 0.0826| 0.0991 540
325 0.0579] 900 3000]  0.0765] 0.0776] 0.0807| 0.0969 645
P42 43 600V CV
1.02 3
CwV EM-CEE
(mm?) Q/km) | (MQ km) (mn?) Q /km) | (MQ km)
v o A v @0 A
2l 2 |7/06 9.42 50 2000 18 2l 2 7/0.6 9.42 25001 2000 24
35 17/08 53 50| 2000 25 35 17/08 53 2500 2000 33
55 [7/1.0 3.4 50] 2000 33 55 17/1.0 3.4 2500] 2000 44
3 2 |7/06 942 50 2000 15 3] 2 7/0.6 9.42 25001 2000 20
35 [7/08 5.3 50 2000 21 35 ]7/08 5.3 25001 2000 28
55 |7/1.0 3.4 501 2000 28 55 17/10 3.4 2500] 2000 37
41 2 7/0.6 9.42 50| 2000 13 44 2 7/0.6 9.42 2500 2000 18
35 [7/08 5.3 50 2000 19 35 1]7/08 5.3 25001 2000 25
55 [7/1.0 34 50] 2000 25 55 17/1.0 34 2500] 2000 33
5 2 |7/06 9.42 50 2000 12 5] 2 7/0.6 9.42 25001 2000 16
35 17/08 53 50| 2000 17 35 17/08 53 2500 2000 22
55 17/10 34 50] 2000 22 55 17/10 34 25001 2000 30
6] 2 |7/06 9.42 50 2000 11 6] 2 7/0.6 9.42 25001 2000 15
35 [7/08 5.3 50] 2000 16 35 ]7/08 53 25001 2000 21
55 |7/1.0 3.4 501 2000 21 55 17/10 3.4 2500] 2000 28
7 2 7/0.6 9.42 50| 2000 10 7N 2 7/0.6 9.42 2500 2000 14
35 [7/08 53 50 2000 15 35 1]7/08 53 25001 2000 19
55 [7/10 3.4 50] 2000 19 55 17/10 3.4 2500] 2000 26
8 2 |7/06 9.42 50 2000 10 8l 2 7/0.6 9.42 25001 2000 13
35 17/08 53 50 2000 14 35 17/08 5¥3 2500 2000 19
55 17/10 34 50 2000 19 55 17/10 34 2500f 2000 25
100 2 |7/06 9.42 50 2000 9 100 2 7/0.6 9.42 25001 2000 12
35 [7/08 5.3 50] 2000 12 35 ]7/08 53 25001 2000 17
55 |7/10 34 50] 2000 17 55 17/10 34 25001 2000 22
2] 2 7/0.6 9.42 50| 2000 8 12| 2 7/0.6 9.42 2500 2000 11
35 [7/08 53 50 2000 12 35 1]7/08 53 25001 2000 16
55 [7/10 3.4 50] 2000 16 55 17/10 3.4 2500] 2000 21
15| 2 |7/06 9.42 50] 2000 8 15| 2 7/0.6 9.42 25001 2000 11
35 17/08 53 50 2000 11 35 17/08 5¥3 2500 2000 15
55 17/10 3.4 50 2000 15 55 17/10 34 2500f 2000 20
2| 2 |7/06 9.42 50 2000 7 200 2 7/0.6 9.42 25001 2000 9
35 [7/08 5.3 50 2000 10 35 1]7/08 5.3 25001 2000 13
55 [7/10 3.4 50] 2000 13 55 17/10 34 2500] 2000 18
0| 2 7/0.6 9.42 50| 2000 6 300 2 7/0.6 9.42 2500 2000 8
35 [7/08 53 50 2000 8 35 ]7/08 53 25001 2000 11
55 17/10 3.4 50 2000 11 55 17/10 34 2500] 2000 14
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600V CVT 600V EM-CET
600V CVT 600VEM-CET
R=8D
mm2 mm mm mm mm mm mm2 mm kN mm
8 7/1.2 3.6 1.0 5.6 15 100 19 1.65 333 152
14 4.4 1.0 6.4 15 111 21 2.88 370 168
22 5.5 1.2 7.9 15 132 24 453 440 192
38 7.3 1.2 9.7 15 158 28 7.82 527 224
60 9.3 1.5 12.3 15 195 34 12.3 650 272
100 12.0 2.0 16.0 15 247 42 20.6 823 336
150 14.7 2.0 18.7 15 285 47 30.9 950 376
200 17.0 2.5 22.0 1.7 379 55 41.2 1263 440
250 19.0 2.5 24.0 1.8 437 60 515 1457 480
325 21.7 2.5 26.7 1.9 512 66 66.9 1707 528




0.2
SM
1000 8000 0.00dB 155p m  (1)3)
2.5% 0.02dB> 155p m (2
N N
Ao,
( D oey,
€, €
p p
©®)
SM
1000 200mm 0.00dB 155p m 500 700mm (1)(3)
600 200mm 0.02dB> 155y m 375mm 2
20 300 240mm(180° ) 0.1dB> 155y m (@)
SM
20 300 10 20mm  10kg Im 10 0.1dB> 4
400 1000 20 30mm  10kg 1m 10 0.1dB> (4)
1.55u m
SM
20 1000 -30 +60 0.1dB> 155y m DER)B)4)
SM
1000 40N/mm  0.00dB> 1.55u m 3
SM
20 1000 980N 90° 10 0.1dB> 155u m (4)
(1) Hara IWCS 468-471 1995
(2) R.SWagman IWCS 472-478 1995
(3) Iwata IWCS 627-633 1995
(4) Niiyama IWCS 333-339 1996

(5) B-10-50 1998




JIS

*3

x4

(um) (dB/km) (Mm) (dB/km) (um) (dB/km)
131 08 *1 1.31 0.5 131 0.34 038
1.55 05 *1 155 155 0.20 022
(um) (dB/km) (um) (dB/km) (M ) (dB/km)
0.85 35 *2 0.85 3.0 0.85um 4 15
131 15 *2 131 1.0
Gl *2 200,400,600 MHz km 1000MHz km
(pm) (ps/nm/km) (um) (ps/nm/km)
SM 1280 1.330 35 *1 1.280 1.330 35 *1
1525 1575 35 *1 1.500 20 *!
1100  1350nm( ) ** 1100 1280nm
SM
*1...JIS C 6835
*2...JIS C 6832
*3... ;
*4 ... 'ISDN 1991



